201-103-RE - Practice Set #5
Find y':

(1) 22y — 32%y +8 =0
4 5

4) ——=-=2y+1
Ty

2x 2y

@ T+y E

(10) v +3y7 =y + 20

(2) 223/ — 32 £ 32 4+3=0
(5) 27 — 3v/T = 3

(8) V2r +y =32 -4z +7
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(3) 3zy? + 23y + 322 =10

6) (v*+22)° =9z —y+1)

9) Vi —7 = —322 + 2y

Find the equation of the line tangent to the graph at the given point.

(11) 422y — 3zy? + 45 at  (3,—-1) (12) 2*/3 4 2y*/3 42y =5 at  (1,1)
) 5 2 3
(13) 2z°y —4day° + 20 =24 at (-3,1) (14) =4+ —-=5 at =1
Yy X
(15) 3,/ + 2T =9 at z=9 (16) (12 +52)> =6y+30  at (1,1)
(17) 5z —Jy—2c=y—4 at (4,4) (18) 2> +y? =/—y—2x+1 at (-1,1)
(19) Jz+2yy=T7—4y at  (1,1) (20) 23 +3/y =2y — bz +4 at (1,4)
ANSWERS:
6y — 2y> 6v6 +6 —3y? — 322y — 6z 492 3y
W o5 @ —F— ) 3 ) =533 ) 74
4ry — 3z 3y 6xy + x 522 — 222y 2\/x
9 — 493 — 8z 15— 2y 122y —x—1
6) ———————  (7) ———=— (8) (12z —8)y/2 —2 (9 =L -
©) i1z ro V) apyay_e O (Zr—8Varty O L= -1
4z -3 1 5 2 9 7 16
10) —~"— " (11) y=z2—= (12) y=——a+~- (1 = o+ —
(10) 572y — 1) (A1) y=gz—5 (12) y=—zz+5 (13) y=gz+5
3 5 2 10 13 3 32
4) y=-S2+= (15) y=——=z+3 (16) y=——a+— (17) y=—-a+ —
(14) y=-gz+5 (15) y=-gz+3 (16) y set5 (70 y + 4
2 7 1 15 32 12
1 =Zr+- (19 y=——a+— (20) y="z—- =
(18) y=o+y (19 y=-gz+ (20 y=—r—



